
        GUIDE D’INSTALLATION
        INSTALLATION GUIDE

                

Tablette ORA/Tablet 

OR
A 

20
25

   
 P

rin
te

d 
in

 C
an

ad
a



LISTE DES MODÈLES/ MAPPING � � � � � � � � � � � � � � � � � � � � � � � � � 3

LISTE DE PIÈCES/ PART LIST  � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3
TPD121626 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3

ASSEMBLAGE/ ASSEMBLY  � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 4

        TABLE DES MATIÈRES          
TABLE OF CONTENTS

                

Tablette ORA/Tablet

Service à la clientèle: 1 800 661-1411 / Customer service: 1 855 459-1954



3
Service à la clientèle: 1 800 661-1411 / Customer service: 1 855 459-1954

LISTE DES MODÈLES/ MAPPING

TPD121626
12” X 16”/26”H

LISTE DE PIÈCES/ PART LIST

1 X Support 1 X Tablette/
           Tablet



4
Service à la clientèle: 1 800 661-1411 / Customer service: 1 855 459-1954

ASSEMBLAGE/ ASSEMBLY

Quincaillerie/ Hardware

1 X Vis Allen 10 - 24 x 3/8” sans tête
1 X 10 - 24 x 3/8” Allen set screw

Insérez la tablette dans le support.

Insert the tablet into the support.

Étape 1/ Step 1

Étape 2/ Step 2

Outils/ Tools

1 X Clé Allen 3/32”
1 X Allen Key 3/32”

Serrez la vis Allen 10 - 24 x 3/8” sans tête à l’aide d’une clé Allen jusqu’à ce qu’elle soit 
entièrement insérée dans le tube, tout en laissant la tablette libre de pivoter.

Tighten the 10 - 24 x 3/8” Allen set screw with an Allen key until it is fully inserted into the tube, 
while allowing the shelf to rotate freely.


